@& N\R nbow 17ath- | Green A |

7x3= 6x7= 48 + 6 = 95+ =100
12+ 2= 42 = 6 = 6x2-= 100=75+
28 = X4|5x4-= 10x 10 = 50+ =100
Ox4-= 36 =6 X 6+ =6(100-40-=

40 =10 = 25 +5= 1x6= 100-90 =
60+6= 10x9 = 12=4x _ (15+ =100
11x10= 20=2x 4x4-= 100-75=
3x3= 8x6-= 5x8= 45+ =100
3x6= 4x9-= 12x10= 100-65 =
O9x3= 2x8= 32+4= 35+ =100
6x9-= 30=5x 6x3= 90+ =100
40 =5 = 15+3= 18=3x___ 1100-30=




@S N\R: nbow 1ath- | Green B [

6x7-= 4x4-= 10x9 = 100-5=

42 = 6 = 5x8= 20=2x___ [100-50=
5x4-= 12x10= 8x6= 90+ =100
36 =6 X 32 +4-= 6x3= 100-65 =

25 =5 = 12+2= 18=3x__ 35+ ___ =100
48 = 6 = 28 = Xx4|4x9-= 100=75+
6x2-= Ox4-= 2x8= 30+ =100
10 x 10 = 40 +5 = 30=5x 145+ =100
6+ =6 |60+6= 15+3= 100-40 =
1x6= O9x3= 11x10= 100-90 =
12=4x___ [6x9= 3x3= 100-15=
7x3= 40+ 10 = 3x6= 100=5+__




